Review for Best 13 - Algebraic lkinedr Equations

Name: Class:

1.) What is another way of saying that an equation has infinite solutions? |'denh'hj

2.) What is another way of saying that an equation has no solution? null set

3.) Find three consecutive integers whose sum is -87.

LOt }éﬁ int = X
Let and int =X+ Y x+ 4+ X+3=-&7
et 39 int= Xr & gx_{_?):—g?
=-90
X=-30

- 3029, “3@
4.) Find three consecutive even integers such that three times the sum of the first and the third is

24 more than two times the second.
Lot IS¢ guen int =X 5()(4‘ X‘l'[‘b = Q\(X‘\‘g 4
Lok o even int = X+ L Ax41a= AX+HHAT
Lok 3¢ ouen ink=x+ 2K Y
Ax+)12=K3
L—|)(:: [
X=4
Solve the following equations:

5) 7x+2=5x-10 6.) 3p+4=3(p+1)

+a=-10 3p+H=3p+3

A= -1
]




7.) 5Sh+3-2h+4=2h+9+h-2 5 X-
) v

At 1= 3ht]

OO Solugions (X=7b]

9) 020 + 30) 6 = 0433 +20) o) 10p~2(3p-6) - 430 ~6)-8p
S| g - |p-epria-13p-oi-fp
’0‘2><+ -—0-2% HP-% | A= HP—Q"F
e
4=IXﬁ§ “4p —4p
-3 -
S 2=-a 4
A= 7
11.) -27-15=-12h+4h-3+15-h 1595.3_X+§|=E./3
~AQ = qh+12 A3
ﬁ/ﬁ 3(3x)+4(x) = A1)
-S4==4h Ox+Hx = Qo
—q -9 |Zx= A




<N\
13) 83y -3 2(x-9)- 4fx-3)-2

‘% -3 3.3
Y 5. 2% % 45012
-2 -3
- 2x-18 = 12X +dD-36

@ 14.)
A=\R= 12X+, 452

X T2X 17

g

15.) 1.2x+37=4.2x -8 3, 3x — 2 2_x.-3 1 g
RS 2 S 8§ 4 2
31=3x"¢ I(3x- )+ (@R HE)
4%— . . 3X,C;1+4~52X:‘Lf
Ho= 3% ) X’rg:?_i

2, 3

17.) Matthew has a cousin who is five years older than he is. The sum of their ages is 31. How old

is Matthew’s cousin?

Lot Maftsoge= X Xt Xt5=3]
Lot COBINS00R= Y+ 5 5@@55 ’_35)
=1
K=k

2 G

18.) Leah and Alexis went shopping and spent a total of $32.50. Alexis spent $9.50 more than
Leah did. How much did they each spend?

ek Leahs amount= X X+%+9.5=32.5
Lok Apxis owmount = AF95 H35-52

| oot = 3150
Aews = 1501950 &)



For 19 — 22, isolate y.

19.) y-5=2x
5 +5

21.) x-y=7
+ +

=+
X1

Answers:
1.) identity
3.) -30, -29, -28
5)x=-6

7.) infinite solutions

9.)x=-2

11.) h=6
13.) y=-9
15.) x =15
17.) 18 yrs.

20) 3y - 9x-12
3 3 3

Y=3%-1

22.) 3x-2y =9
“HY= -3+ 9

2.) null set

4) 4,6,8

6.) no solutions

8.) x=176

10.) no solutions

12) x=2

14)x=3

16.) x = -6

18.) Adam: $11.50; Alexis: $21
20.) ¥ =3x-4

3
22,) ¥ =5x-14



